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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot [ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-15 0
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P3-15

FfiE) | EBIAT (FD) | ERE (EA/4R) | BEREE(B/R) | XS ERE

08:15 288 150.0 2. 888 RS ThHA@O8:15 KENIEF (KAFEEE)
09:00 288 150.0 2.888 [(Z=| FmHA@09:00 kENFEF (RA{EEIER)
09:55 288 150.0 2.888 |Z=| 7iHe09:55 FKEFEF (RAEREE)
10:45 288 150.0 2.888 [Z=| ThHA@10:45 kHEIEF CGRAFEESR)
11:30 288 150.0 2. 888 FH| FhHA@11:30 KREFEF (RATREES)
12:10 288 150.0 2. 888 FA| FiHR@12:10 RHEF CKRAEZRSD)
12:50 288 150.0 2.888 FA| ThHA@12:50 KRENFEF (KRAATREES)
13:30 288 150.0 2.888 FH| FhHA@13:30 KRENFEF (RAATRELSE)
14:15 288 150.0 2.888 FA| TiHR@14:15 RHEF CRAEZRS)
15:00 288 150.0 2.888 |/\f| FnHA@15:00 KEFEF (KREBFERSE)
15:50 288 150.0 2.888 [/ FiH#@15:50 REFEF (REAEHSE)
16:50 288 150.0 2.888 [/\F FiE@16:50 REFEF (KEAERR)
29t 3456.0 (12%) 1800. 0 3EUHKEC: 2200, PH: 5.6

WEE S RiHKRPH 5.6, HTHRAENAZIFESEREPH, i5FohiAE
HEEECE (1727.0 vs 4603.0) id 5
RN S R REC 2200. 0
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P3-15_0, Day=75 (2025-06-14)
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P3-15

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

05:50 283 150.0 2.888 FA| {Ri&@05:50 Bz (kAfEEEE)
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15:55 283 150.0 2.888 FA| 1Bi&e15:55 Bah (RAEREE)
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P3-15

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE

05:30 283 150.0 2.888 FE| 1BRi%@05:30 B (FkAERE)
06:30 283 150.0 2.888 FE| 1BRi%@06:30 B (kAERSE)
07:30 283 150.0 2.888 FH| 1Bi&@07:30 Bah (KRAMEREE)
10:15 283 150.0 2.888 [Z=| 1®Ri%e10:15 Bzh (REAERESE)
13:00 283 150.0 2. 888 FA| {Ri&@13:00 Bz (RAEREE)
13:40 283 150.0 2.888 FH| 1BRi%@13:40 Bz (kBERSE)
14:15 283 150.0 2.888 FH| 1Ri%@14:15 Bzh (GREBERSE)
14:50 283 150.0 2.888 FE| 1BRi%@14:50 Bz (kAFERSE)
15:35 283 150.0 2.888 |Z=| {Ri&e15:35 Bz (REAEHE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.6

TERRHLER 2 STEIEARTF (184.0 :

ZRIAKFREBRE147.0 ml.
large discrepency for begining water status (316:21.0), set to 316 ml.
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P EKECE (1803.0 vs 5297.0) d 5
FREVEIN S K KEC 2200. 0
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P3-15

FfiE) | EBIATK (FD) | ERE (BEA/4) | BEREE(B/R) | XS ERE

06:55 283 150.0 2. 888 RS {Ri%e06:55 Bz (REAERSE)
07:30 283 150.0 2. 888 sl {Ri&e07:30 Bal (REERHE)
08:30 283 150.0 2.888 RS {RRi%e08:30 B (REAERHEE)
09:15 283 150.0 2. 888 RS {Ri8e09:15 Bz (REERSE)
09:55 283 150.0 2.888 S| 1Ri&e09:55 Bah (REEESE)
10:35 283 150.0 2.888 RSl {Ri&@10:35 BHal (REAEHE)
11:15 283 150.0 2. 888 e Rige11:15 Bz (REAERSE)
11:50 283 150.0 2.888 el Rige11:50 Ba) (REERESE)
12:20 283 150.0 2.888 Bl Rige12:20 Bz (REAEHSE)
12:50 283 150.0 2. 888 RS Ri&e12:50 Bzl (REAERSE)
13:20 283 150.0 2.888 | Ri%@13:20 Bz (REERESE)
13:50 283 150.0 2.888 el Rige13:50 Ba (REAEHSE)
14:20 283 150.0 2.888 B Rige14:20 Bz (REAERE)
14:50 283 150.0 2.888 S| Ri%e14:50 Bz (REERSR)
15:20 283 150.0 2.888 el Rige15:20 Ba (REAEHSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:35 283 150.0 2. 888 e {Rige16:35 Bzt (REAEHSE)
17:30 283 150. 0 2.888 5| {Ri1%e17:30 B3h (RBfERKSE)
24it]5094.0 (18%%) 2700. 0 3EHKEC: 2190, PH: 5.6

FEREHEME STEAERST (184.0 : 147.0), AIEEAT—@E XAHE5
ZRIAKFREBRE147.0 ml.

large discrepency for begining water status (210:12.0), set to 210 ml.
WEEY S R EPH 5.6, HTHEYAZIFENEREPH, 5FohiEAE

[E;&EC 5667.0 Kis, EiNFA{RKECAERAIEER

#E[ERECE (1847.0 vs 5667.0) 35

RIS R REC 2194.0



ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=72 (2025-06-11)
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FRV (ml plant-1)

Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-15

BYiE) | GEBRTIK () | EBRE (EA/) | EREE(B/R) | XS R

07:00 283 150. 0 2.888 sl {Ri&e07:00 Bal (REAERHE)
07:35 283 150.0 2.888 RS {RRi&e07:35 Bl (REAEHE)
08:10 283 150.0 2. 888 BE| 1Ri%e08:10 Bz (RF{EREE)
08:45 283 150.0 2.888 s {Ri&e08:45 B (REAEEE)
09:30 283 150.0 2.888 RS {Ri%@09:30 B (REAEHE)
10:25 283 150.0 2. 888 BE| 1Ri%e10:25 Bz (KRGS
11:15 283 150.0 2.888 el Rige11:15 Bal (REAEESE)
12:00 283 150.0 2.888 el Rige12:00 Bz (REAEHSE)
12:40 283 150.0 2. 888 BE| BRi%e12:40 Bz (GGREAERESE)
13:10 283 150.0 2.888 Bl Rige13:10 Bal (REEESE)
13:40 283 150.0 2.888 S| Rige13:40 Bal (REAEHE)
14:10 283 150.0 2.888 B 1Ri%e14:10 Bz CGGREMEESE)
14:40 283 150.0 2.888 Bl Rige14:40 Bah (REEESE)
15:15 283 150.0 2.888 el Rige15:15 Ba) (REAEHSE)
15:55 283 150.0 2.888 BS| 1Ri%e15:55 B CGGREEESE)
16:40 283 150.0 2. 888 BE| 1Ri%e16:40 Bz (RF{EREE)
Bit] 4528.0 (16%%) 2400.0 3EUHKEC: 2130, PH: 5.6

FERRNEREEFEEART (184.0 : 147.0), AgEHF—RE XAH5
PRIALBRIERE147.0 ml.

WREY S RFHRPH 5.6, HTHEARNAZEBEEEPH, BFahiAE
[E);%EC 5840.0 K5, ZEiFBIKECAEZ hiEE R

HE[E]RECE (1887.0 vs 5840.0) 5

FREVEIN S K IKEC 2126.0



P3-15_0, Day=71 (2025-06-10)
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